Nl ol &b A Al A
20158 = =20l & AR =S XIS
g 200 Mel+=¢
2 210 ZHEAA+Y
g 216 Ol A== (Sl &&)
Z2-2-8-5 Off &4 & E 0l At Hr&E2
E5 Al 4,508,826 4,497,584 11,242
200 M2l +=¢ 142,036 165,095 A 23,059
210 & HAN 2= 102,036 125,095 A 23,059
216 Ol Xt==¢ 102,036 125,095 A23,059
216-01 33030l K== 102,036 125,095 A 23,059
< Fg=sX > 102,036 125,095 A 23,059
OXg= 0lX 102,036
220 SAIH A2l == 40,000 40,000 0
224 JIEt=¢ 40,000 40,000 0
224-06 12 =+¢ 40,000 40,000 0
< FUSXW > 40,000 40,000 0
OXEtadyH =283 o 40,000
700 EX =AU SHUENH 4,366,790 4,332,489 34,301
710 Ed S 4,366,790 4,332,489 34,301
714 Ol X1 3 &l = 4,366,790 4,332,489 34,301
714-01 OIXI =&l = 4,366,790 4,332,489 34,301
< FUSEX W > 4,366,790 4,332,489 34,301
o2l Gl xl= 4,366,790




N = 0l & At & M A

20159 = 20l& ALSIS X2 &

AN =S
dM: Lo=EXSsH
gelr LoSXII2 43 (AMI=EXII2) (&)
SA - BB B () - MM - BES Ol &t o San HmEET
==X 4,508,826 4,497,584 11,242
Lo=Xsad 25,754 28,354 A 2,600
Lo=X0I2 438 (AS=XII3) 25,754 28,354 A 2,600
tHeteolsl Wa=Xs X 25,754 28,354 A 2,600
307 21201 A 25,754 28,354 A 2,600
02 IAFAAFEX 25,754 28,354 A 2,600
ougt=els AUa=ZX3 XA 25,754
FHAHES =X5d 33,900 32,000 1,900
ZA=XINZ LS (AMIISEXINZ) 15,900 14,000 1,900
ZOHIAE S KIS XA 15,900 14,000 1,900
307 21201 A 15,900 14,000 1,900
02 QItFAAHE X 15,900 14,000 1,900
OFHeIHE S XIa K& 15,900
ASZUSRIIZ2 g4 (ME=XI12) 18,000 18,000 0
LISSE 2URE 18,000 18,000 0
301 et Aa 3z 18,000 18,000 0
01 MI2ZE 6= 18,000 18,000 0
OIS EH 2
800,000& = 109 18,000
PN 26,000 24,000 2,000
SX0lz 43 (A3=sX213) 26,000 24,000 2,000
dHudgela KA 26,000 24,000 2,000
307 glz2+ol & 26,000 24,000 2,000
02 YAFAANHEX 26,000 24,000 2,000
OWd=HE 2z 10,000
Osl=22¢ 2,000
ootol2elor 1 2,000
OsEAY X 2,000
Ogt=2¢els X 2,000
OF2na X 2,000
oustoiniL 2l 2,000
OFNMXNRHSAE X 2,000
O=s2LE 23 2,000
NRes (U= ) 4,423,172 4,413,230 9,942
BEIE (M =EXIIZ) 4,423,172 4,413,230 9,942
SAEXNE(MHXS) 4,423,172 4,413,230 9,942
602 Gl Xl = 4,423,172 4,413,230 9,942
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